
These numbers are written according to their place values.  These numbers can be
regrouped and written again.  Which of the two options is regrouped correctly?

34   =    3 tens  +  4 ones      

B:    2 tens  +  14 ones      

A:    1 tens  +   34 ones      

Which is Equal?: Practice Regrouping

42  =    4 tens  +  2 ones      

B:    2 tens  +  22 ones      

A:    3 tens  +   22 ones      

53   =    5 tens  +  3 ones      

B:    4 tens  +  13 ones      

A:    4 tens  +   23 ones      

66   =    6 tens  +  6 ones      

B:    4 tens  +  26 ones      

A:    7 tens  +   16 ones      

75   =    7 tens  +  5 ones      

B:    6 tens  +  15 ones      

A:    5 tens  +   15 ones      

81   =    8 tens  +  1 one      

B:    5 tens  +  31 ones      

A:    4 tens  +   31 ones      

79   =    7 tens  +  9 ones      

B:    6 tens  +  29 ones      

A:    4 tens  +   39 ones      

97   =    9 tens  +  7 ones      

B:    6 tens  +  37 ones      

A:    8 tens  +   27 ones      
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